A2

| like both ice cream cake.
Answer:

She can swim she cannot dive.

Answer:

| want to visit Paris Rome.

Answer:

He is tired he still keeps working.
Answer:

The movie was long interesting.

Answer:

We can go either to the beach the mountains.
Answer:

She saved money so that she could buy a new car
Answer:

They are going to the party, | am staying home.

Answer:

He didn't study, he failed the test.
Answer:

She is neither tall short.
Answer:

go on vacation.



Answers

| like both ice cream cake.
Answer: and

She can swim she cannot dive.

Answer: but

| want to visit Paris Rome.

Answer: or

He is tired he still keeps working.
Answer: but

The movie was long interesting.

Answer: but

We can go either to the beach the mountains.
Answer: or

She saved money so that she could buy a new car go on vacation.
Answer: or

They are going to the party, | am staying home.
Answer: but

He didn't study, he failed the test.
Answer: so

She is neither tall short.
Answer: nor



